A LITTLE BIT OF MATHS EVERY DAY ... (Crossover)

MoNDAY TUEsSDAY WEDNESDAY THURSDAY FRIDAY SATURDAY SUNDAY
1 1 3 4 5
Work o|ut I(v;/ith)out a ) Simplify Work out 35% of CE\ZSn the pe'rirlneterh _
calculator 42 +2x +3x+ 8 800 is cm, calculate the -
MAY 2019 123 x 12 Lxt ¢ Sct8 value of x ) L +8°LS
1636 280 q.2§
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Simplify Write 2.89 x 102 as Solve Simplify Solve There are 792 litres of ofl in jays ol tank. 800
2a% x 5a%b® | an ordinary number | 3x—5=16 . : (x+2)(x-3)=0 e uses 18.7 lires of ol cach <o, A 20
m* X m mS 2 x:3 00 + 20
lOasbq' o 'OO lsq x < q T X ¢ = Estimate the number of days it will take him to use all the oil in
the tank.
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Work out 130% | Workout | Whatis the highest | Three rumbers ave o write Wit
O 4 X 12 common factor of 25| mean of 12 and a mode 4.7 x 104 in In the first year, the value of the car depreciated by 23%.
of £120 : of 10. What are the ’ After the first year, the value of the car depreciated by 18% each vear
4'8 and 567 umbers? standard form Work out if Paul’s car lost more than half of its value by the end of three
{156 i ‘ 243 x(05 | No. 2:3500 " Vousatevofd
& gos {11662
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Factorise A "thing" is reduced in a sale Write 525 as a Simplify Expond What is the sim N b 's l
3y +6 w208 T;;Sale prices product of its prime m2 + m2 X(X - 3) surface area of I
o ) factors. the prism? P
3%*2) What was the origial price? . Imt xt-3% e - 3 -
£100 Sx§éx 252emt Gt
Y1 28 29 30 3
What is the area of a Work out What is simplify Change 3.5 metres
circle with a diameter 3 2\ 3 3(m+4)-204m+1) | so miimetres.  REMEMBER: THE BEST WAY TO REVISE
of 10 cm? _ W, wy
fos —+ 2l gorso 48 dmu2-8m-2  3noma MATHS IS T0 "DO MATHS"!
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